
Holography and Quantum Error 
Correction

 Part I: 


Non-Euclidean Geometry and

 Black Holes



اصول موضوع هندسه اقلیدسی

یک- بین هر دو نقطه می توان یک خط راست کشید،

دو- هر خطی بین دو نقطه را می توان به میزان دلخواه امتداد داد، 

سه - می توان هر دایره ای با هر مرکزی و هر شعاعی رسم کرد، 

چهار - تمام زوایای قائمه با هم مساوی هستند، 

پنج - اگر خط راستی دو خط راست دیگر را قطع کند، و مجموع زوایای ایجاد شده
در یک طرف از دو قائمه کمتر باشد،  آن دو خط نهایتا  در آن طرف به هم خواهند رسید.  



The fifth postulate

The parallel postulate

α
β



اصل موضوع پنجم در طول ۲۰۰۰ سال:

 از یک نقطه خارج یک خط تنها یک خط می توان به موازات آن رسم کرد.•

مجموع زوایای یک مثلث دو قائمه است.•

مثلثی وجود دارد که مجموع زاویه هایش دو قائمه است.•

هر مثلثی را در یک دایره می توان محاط کرد.•

مربعی وجود دارد که همه زاویه هایش قائمه هستند.•

دو خط که با خط سومی موازی باشند، خودشان با هم موازی اند.•

هیچ حد بالایی برای مساحت یک مثلث وجود ندارد. •



• Proclus (410-485),


• Ibn al-Heytham (965-1039),


• Omar Khayyam (1050-1123),


• Nasir al-Din Tusi (1201-1274),


• Sadr al Din (1298),


• Girolamo Saccheri (1667-1733),


• Giordano Vitale (1633-1711),


• John Lambert (1766),


• Nikolai Lobachevsky (1829),


• Janos Bolyai (1831),


• Gauss,


• Reimann,…



Hyperbolic Geometry



∞



P

بر خلاف اصل پنجم اقليدس: 
از هر نقطه خارج یک خط بی نهايت خط عبور می کند که همه با آن خط مواز ي هستند. 



بر خلاف اصل پنجم اقليدس: 
از هر نقطه خارج یک خط بی نهايت خط عبور می کند که همه با آن خط مواز ي هستند. 



مجموع زوایای داخل یک مثلث کمتر از ۱۸۰ درجه است. 



α

β
γ

α + β + γ ≤ πS = R2(π − α − β − γ)

مساحت یک مثلث  



α + β + γ = 0

S = πR2



Reimannian Geometry

ds2 = gμνduμduν



Spaces of Constant Curvature with 

Euclidean metric

R = 0R > 0 R < 0



Poincare Disk Model

ds2 =
4(dx2 + dy2)

[1 − (x2 + y2)]2

Geodesics

∞



Euclidean Tesselations



یک سطح اقلیدسی را تنها به سه صورت می توان کاشی کاری کرد.

با مربع



با مثلث 



با شش ضلعی



Hyperbolic Tesselations

یک صفحه هذلولوی را به بی نهایت صورت می توان کاشیکاری کرد. 



 تمام این چند ضلعی ها یک اندازه هستند.

Schlaffli Symbol = ( 5 , 4 )



Schlaffli Symbol = ( 5 , 4 )

Regular Hyperbolic Tesselations



Schlaffli Symbol = ( 6 , 3 )



Schlaffli Symbol = ( 3, 14 )



Schlaffli Symbol = ( 4 , 5 )





Esher Artworks



Black Holes



Gμν := Rμν −
1
2

gμνR

Gμν =
8πG
c3

Tμ,ν

Einstein’s Equation 

ds2 = gμνdxμdxν



ds2 = (1 −
Rs

r
)c2dt2 −

dr2

1 − Rs

r

− r2dΩ2

Rs =
2GM

c2

Schwartzchild Solution

r0

M

Rs



Black hole has no matter inside it

Rs



Singularity Theorems

Roger Penrose and Steven Hawking



No Hair Theorem

The spacetime outside horizon  depends only on 

Mass (M), Charge (Q) and Angular Momentum (J)

Independent of mass and charge distribution 

Independent of matter or anti-matter 

Independent of baryon or lepton number 

Matter Anti-Matter

p, n e, μ



Why this is unexpected?

No matter how the matter collapses,

 the final spacetime around the black hole does not depend on the 

original distribution. 



Why this is important?

Because all the information is lost!





M

Conflict with Unitarity

Observer outside 

horizon



Q: Don’t we have the same thing in everyday life?

A: We are not talking about a multitude of particles. 

This happens even at the microscopic level?



ℰ

F(ℰ(ρ), ℰ(σ)) ≥ F(ρ, σ)

Q: Don’t we have the same thing in quantum operations?



A: Yes, but there is no environment here.

Any object + Black hole of mass m Black hole of mass M



1-Quantum Field Theory in curved space time

2-Extreme Gravity near the horizon 

which changes virtual particles to real particles 

3-Entanglement

T =
ℏc3

8πGk MHawking radiation

Moreover: Black hole evaporates!



T =
ℏc3

8πGk M

1-Large black holes are cooler 

2-The black hole becomes hotter as it radiates

ℏ = c = G = k = 13-In natural units: T =
1

8πM

dS =
dQ
T

= 8πM dQ = 8πM dM S = 4πM2



S = 4πM2

Rs =
2GM

c2
Rs = 2M

This result agrees with Beckenstein’s bound

S = πR2
s S =

A
4



Beckenstein Bound

Quantum Field Theory in Curved Spacetime

R

E

S ≤
2πk R E

ℏ c

I ≤
2π R E
ℏ c ln 2

I = log Ω =
ln Ω
ln 2

=
S

k ln 2

Maximum entropy in any region of space

=
k ln Ω
k ln 2



S ≤
2πk R E

ℏ c

S ≤
2πk Rs Mc2

ℏ c

Rs =
2GM

c2

S ≤
πk R2

s
Gℏ
c3

∼
k A
4 l2

p
I ≤

A
4 l2

p

The maximum information inside a black hole



S ≤
πk R2

s
Gℏ
c3

∼
k A
4 l2

p

I ≤
A

4 l2
p

Conjecture: Information is carved on the surface of the black hole



Susskind t’Hooft

Holography



The 2D hologram Event Horizon

Holographic Principle



End of part I


